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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) ufemeff geyem 379 Y9 -3 W s JTfHaria: forg |

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) axft ww A |

All the questions are compulsory.

(3) T T HT I & TS I-Tf&ehl H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 W T @Ug €, 39 @t o I U 1Y g ford |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) -9 % fedl F ST wuTeR o fohet TepR hi e/ 31aR/ fatienyma g W f&=dt wmar < weA

%I & T A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) Qug
JH
Gl

9

I

Section
A

B
C
D

NECR:IC

1-13
14 -24
25-27
28 - 30

Q. Nos.
1-13
14-24
25-27
28 -30

37 JAH T
1
2
3
4

Marks per question
1

2
3
4

(7) I ShUTH 14, 27, 28, 29 9 30 | 3TT=aieh faehed |

Question Nos. 14, 27, 28, 29 and 30 have internal choices.
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SECTION - A
1. 5% IR 9 & 9™ forflaw |
Write the name of four flower parts. a+YVat+Va+tVa =1

2. Ter # ford aea ol Heft 3 shror AT A vl wie I AT R ?

Marsh spot disease of pea is caused by deficiency of which element in soil ? 1

3. AT fareett % Q) Sere fofau |

Write two examples of impermeable membrane. +lh=1

4. T glg STEUGH §HHA I T Al |

Write the name of a growth inhibiting hormone. 1

5. U i etk I o Sfd Sferieft safieha: st ferag st am forflau |

Write the name of Boll worm resistant genetically modified variety of cotton. 1

6. A=A ot Tifed o foTu et w1 s &1 | 3w @ 7

Which part of coconut fruit is used for yielding coconut oil ? 1

7. HME &= % g i 91 foerfim gveifyd fra sirar g ¢

Which vitamin is synthesised by human skin ? 1

8. M T 3R Th Aq3Ti bl He YehTol H <& H TERIS § 7

Which eye pigment helps animal to see in dim light ? 1
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0. YUTRISS Uy I “C” HINTHIE A F FHA 1 70T Bt & ?
Which hormone is synthesised by “C” cells of thyroid gland ? 1

10. < 9 T 9 §=1d o foTq e spt 8.0, . 1 SYehl e =gy ?

For prevention of which disease, a person should be vaccinated with T.A.B. ? 1

11. heslT G 1 Teh 3TN TARIT |

Write an example of hinge joint. 1

12, “Tregemyed” o 9weisy |

Explain “Gastrulation”. 1

13. 3.3.50. o1 qu A fafau |
Write the full form of E.E.G. 1

Qs -

SECTION - B

14, SHSTOIIST bl TRETISA hITSTT G 3HehT Teh IRV TeAfa |
YT
Fafercan % & o Sa Wikl % < oew fifaw |

Define bacteriophage and write one example of it. 1+1=2
OR

Write two importance of biotechnology in medical field.

15. He I a7 3dd 9 8 37 fefgu | 1+41=2

Write difference between estrus cycle and menstrual cycle.
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16. AT h Th AT 1 AT FTRGT a1 ARG IT o G SN ol A fAIRaT |

Write name of a species of honey-bee and write name of two appliances of apiculture.

1+7+%=2

17. widere Que TS SgEival f=oT shi TS a2l 5! Teh 3T e |

Explain restriction fragment length polymorphism and write one use of it. 1+1=2

18. SteATef T 7 ¢ sfer™ YfuRE o1 Siaamh o §9 1 fhe Tehr ST fohe ST 2 7

What is biopesticide ? How Baccilus thuringiensis is used as biopesticide ? 1+1=2

19. WAT-A T UTeY <1 0 G2 YT-B H 308 graf-d 3uarft urew w8 | f= bt gt Sife

HIT-A "IT-B
(A) s (i) 37 go7 HieT1g
B) i (i) @ 3g ol
(C) et (i) wftaea foreTd ®a
(D) Hiw (iv)  SrafTes 6 g1 B

Part — A contains the plant name and Part — B contains useful plant part related to them.
Match the following :

Part- A Part— B
(A) Munj (1) Dry flower buds
(B) Clove (i1)) Leaves for fibres

(C) Black pepper  (iii) Mature Crimocarp fruit

(D) Fennel (iv) Immature dry drupe fruit Yo+ +h+1h=2
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20. ¥cH Ud TNEDROT 7 Heed & Tl hl SHesy |
Explain two disorders related to heart and circulatory system. 1+1=2

21. ToRITYR o SATUR W URATSHT <hl ATHeRI0T Tgfd sl THETST |

Explain nomenclature of enzyme on the basis of chemical reaction. 2

22. faafe forg gd € ? e ot Yoiia STaeensti § i § B HHTE o THHA § HiF J 37 1

fmr g g ¢
What is Kliekning ? In human embryonic stages, which organs are formed during third to
sixth week of gestation ? 1+1=2

23. HE-UHTIedT shl ICTEL0T T THEATSU |

Explain co-dominance with example. 2

24, TeAH T o IFTehTh ol ATH TARGT | 6 TN o1 Teh TI&10T o S<Tdl oh Ueh 39T SISy |
Write the pathogen of Tetanus. Mention one symptom and a preventive measure of it.
1+%+%=2
Qg -9
SECTION - C

25. ShHINTEhIT YUTITY Shi T ST Therd FUH SHITTT |

Describe the structure of cellular endosperm with diagram. 1+2=3

26. St -Tafma =1 aferfva Hifse | SHa-fafFma <61 afam 9= |

Define crossing over. Explain crossing over with diagram. 1+1+1=3

27. L Sl TUTEY TUT e hid G JXERoT See o1 ATHTieha o SISy |
JAYan
wreH fepafarfyr = arer Seft Rrgra =t aaese U gfed =1 Amifsha s AT |

Explain the osmosis and draw a labelled diagram of demonstration of osmosis by thistle
funnel. 2+1=3
OR

Explain lock and key theory of enzyme action and draw a labelled diagram of model.
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29.

pppppp

(1)
(i1)
(iii)

(1)
(ii)
(iii)
(1)
(ii)
(iii)

(1)
(i1)
(iii)

(i1)
(iii)

1)
(i1)
(iii)
(1)
(i1)
(iii)
1)
(i1)
(iii)

7

T Ug — T
SECTION - D

TI-TAF TH B AT TR 7
C,, ¥ o foranfafy =1 sz |
C,, =I5k 1 3TR@ o7 1T |

e
ARt R had 8 7
AR T TIATSEIehTuT hl THETEY |
AL sk T TG T FAT3T |

In which plants Hatch-Slack cycle takes place ?

Explain mechanism of C, cycle.
Draw a line diagram of C, cycle.

OR
What is ammonification ?
Explain nitrification and dentrification.
Draw a line diagram of nitrogen cycle.

T Ul st TN TLEHT 1 AR o 913 |
g <t fopanfafer s awemsT |
Ul o I3 g1 LTI /<TNT o1 T feTfeaT |
JAUAT
et fshan ot wftafya Shifs |
et fsram <6t forafarter 1 TmzmsT |
et =9 <1 T 3TR@ 13T |

Draw a labelled diagram of internal structure of human ear.

Explain the mechanism of hearing.

Write any two diseases/defects of ear.
OR

Define reflex action.

Explain mechanism of reflex action.

Draw a line diagram of reflex action.
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30. (i) 37a:vaed ud .vewa < feranfater o1 amrfera fom smmge |
(i) 37d:vag wd f:vewa 6 fernfafy i augmse |
HAYCT
(i) TS gCH I TN TLHT hl AHIhd o= SIS |
(i) €ed ud yiE=r 7F grawl foredl o= Tt o1 s <hifv |
(i) Draw a labelled diagram of mechanism of inspiration and expiration.
(i1)) Explain mechanism of inspiration and expiration. 1+3=4
OR

(i) Draw a labelled diagram of internal structure of human heart.
(i) Describe any three diseases related to heart and circulatory system.
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